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                التمرين الأول                                        
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  التمرين الثاني

  ( )n nU ���	��9  د���(:�; : =
0
2U  و+

−
=

−1

3 2

2 1

n

n

n

U
U

U
    #$� <=

−
1

1
n

n

W
U

  

أ 01 ا�2ود   -أ  )1
0 1
;W U    و

1
W  

)�� أن   -ب  )∀ ∈ >ℕ 1
n

n U  

�� أن   )2
( )2

1

2 1

2 1

n

n n

n

U
U U

U
+

− −
− =

−
     ���	��
)و  ا-�.�5 ر�	�� ا )n nU  

)�� أن ا
��	���    -أ  )3 )n nW  01 و أ ���	1 
n
W  ��!��n  

ا-�.�5 أن    -ب 
+=
+

2 2

2 1
n

n
U

n
  

=اn   #78أ 01 ��!��    -ج  + + +
0 1

......
n

T W W W  

  التمرين الثالث
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  إضافي تمرين
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